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%2 M [HFXOFEH — 4] ---P3

%30 [HepXEH’> 1] --P3

40 [HFREHRS 2] P4

H5H [ b 120X1 THBEZ & &2RT] +P5

%6 M [REXOFEH—EHFIA] ---P5

BT [RAGHE (REXOEH) —REEFA] ---P6

%8 [K/NGHE (REXRDFH) —EHRETeRX] ---P6

#oM [FEXOEH - EHRELR2] --P7

% 10 [ [REXROFEA —HEHEFE 52 & 1] -P7

# 11 [(REXOFEH —xHERLE Sz EexX2] P8

512 [ [#R40 - RSB D (K BfROFNE 1 —REXDOFEH] ---P9
55 13 f [#RA0 - AEREH D (RN BROMNE 2 —F/MEZRD S]] --PI
% 14 [ [NEXROFEHA—FARRE] ---P10



%1 [1E%EX]

RDOERN 2 2O TOEER LD L9, ke, b, ¢, dDEEZED L.
(1) x*—ax—2=(x+1)(bx*—2x+¢)
2) 2*+1=a(x+1°%+bx+1)2+c(x+1)+d

<fift >
NN OV TOEEFENTHD & X, MIOKHEORE A KT 5 &
1=b, 0=b—-1, —a=c—-1, —2=c¢ nEHMANT a=3, b=1, c=-2

Hzbni-%ERizcx=-1, 0, 1, 22 AT 5L, =nEh
a—3=0, —2=c¢, —a—1=2b+c—-1), —2a+6=3(4b+c—2)
T EENT a=3, b=1, c=-2
Wiz, Zokx, ERITxIcHoVWTOELEXTHD.
2) FHDAERERLCEHET DL
P4+1=ax*+3Ba+b)x*+Ba+2b+c)x+a+b+c+d
TN XZOVWTOEFEXTH D & &, MUOFHDOREZ LT 5 &
l=a, 0=3a+b, 0=3a+2b+c, l1=a+b+c+d
I EEANT a=1, b=-3, ¢=3, d=0
HzonhiZERKicx=-2, -1, 0, 1 2RATHL, ThFN
—7=—a+b—c+d, 0=d, 1=a+b+c+d, 2=8a+4b+2c+d
T EENT a=1, b=-3, ¢=3, d=0
Wiz, Zokx, ERITxIcHoVWTHELEXTHD.




2 M [HER0FEH—EA]

DR A FEH K.

2 7o

(2) a¥b—c)+bic—a)+cla—b)=bclb—c)+calc—a)+abla—0D)

2
(1) a2+b2+c2—ab—bc—ca:<a— b+c> + 5

<fif >

5 = (b%—2bc+c?

o) @m@=w_aw+@+<b+6f+i

=a%ﬂw-ma+%Kw+zm+f%+mw—zm+fm
=a’—ab—ca+ (b —bc+c)=a’+b%+c*—ab—bc—ca
o T, FERXUIALY L.
2) (Fi)=a’b—ca’+b’c—ab’+cla—bc?
(4530)=(b%c—bc?) +(c2a—ca?®) +(a’b—ab®)=a’ —ca’+ b%c—ab’+c?a—bc?
o T, FERXUIALY L.

% 3 [z o 1]

(1) x:9y=2:3, y:2=2:30+%, 2:y:2%KRDL.
2) a:b:c=2:3:4, a+b+c=36DL %, a, b, c DfEEZRD L.
<R >
XY, _2 Y_z _3
W E=dne a=ly LoZae o=3,
Lo T x:y:z:%y:y:%y:4:6:9
a b ¢ X _ _ _
2) 7—§—Z—k b SR a=2k, b=3k, c=4k
Lo T a+b+c=2k+3k+4k=9F
XY a+b4+c=36 THHND 9%k =36 oy die k=4
Lo T a=8 b=12, ¢c=16



a4 [epzHo 2]

KD = b IR Yo T b A R L
1) g=2orx ) L2b=fod ngzjzzztgz
p feg=tors m Il m SHEL-G
<fig >
1) §=o=kiB<t  a=bk c=dk
m 2P B gy ol _dhod
Fo a;b_c;d

ab+cd _ b’k+d’k  b’+d*

a*+c® _ b*RP+d%k _ bP+d?

2]

ko<

@) i=l=§=k L b

a b

ab—cd  b’h—d%k b®:—d?®  a’—c?

b2k2_d2k2 - b2_d2
ab+cd _a’+c?
ab—cd B 02_62

x=ak, y=0bk, z=ck

X+y+z ak+bk+ck X ak
1] = =k —=—=k
a+b+c a+b+c a a
r1t+y+z _x
£ at+b+c a

2 2 2
2] 2ty +z7

d2k2+b2k2+czk2 :kZ

a’+b%+c¢? al+bi4c?
xy+yz+zx  abk®+bck®+cak®
- —k
ab+bc+ca ab+bc+ca
o 2492428 xy4yz4zx

a’+b%+c? ab+bc+ca




HWER [ EH12T1THBZ L ETRT]

r+y+z=1 xyt+yz+za=xyz DL E, x, 9, 20OIHI LR EL1IDF1ITHLZ
& ZREAE K.

<fif >

(x—D(y—D(z=1)=xyz —(xy+yz+20) +(x+y+2)—1
=xyz—2xyz+1—-1=0

ol die 2—1=0 F7=x y—1=0 F7=ix 2—-1=0

EoT, %, 9 20560 Lb 12Xl THD.

BRLART, T, y, 2 RLbITITHH I LERT L &I,
(x=1*+(y=1*+(z=1)*=0
ZAREE L.

%6 M [REXOTEH—FHFH]

WOAREXZFEAE L. F72, S50 LOLEIT O T Hil L.

(1) x24x+1=3x 2) x2—2x+2>0

(3) 2x%+3y°=4xy (4) 9x*=y(6x—y)

<R >

1) (x’4+x+1)—3x=(x—1)2=0 FoT x4 x+1=3x
FEENEODIODF x—-1=00 L X, Thbbrx=1DLXIZRS.

2) x2=2x+2=(x—1)2%+1>0 kotT  x2-2x+2>0

3) (24%43y%) —4xy=2(x— 9%+ y>=>0 LoT 22243y =4xy
RO NODIFT 2—y=0, y=00L %, Thbbr=y=00L X |Z[R5.
(4) 9x%— y(6x—y) =(3x—)?2=0 LoT 942> y(6x— )

EEENDSODIZ3x—y=00 L+ %X, Thbb3x=yD L X|Z[RS.



FTR KRGl (RERXOEH) — EEEFAA]

a<lb, x<ydrtx, ax+by, bx+ay DR/ EHREFL.

<fif >

(ax+by —(bx+ay)=(a—0b)(x—y)
a—b<0, x—y<0THHIND (a—b)(x—y >0
ro<T ax+by>bx+ay

e (Rl (REXDOFEH) —FEHRELA]

a>0, b>00 L %, Jab, ff’b DR/NERZ T X
<fi# >
Vab >0, azj—bb S0 e 0
I e

g (\/E)zz( 2ab >2

a+b

OFN= Jab = 2ab
a+b

BNV NODITa=b DL XITRD.




FEOR [FEXOFEH - EHRETHRX 2]

a>0, b>00 L =, WOAREXDRKD LD & ZFEE L.

3Va +2/b >+/9a+4b 2) W; «/342-«/3
<fif >
(1) 3va +2Jb >0, /9a+4b >0 ----- @

Fi- (3va +2/0 )2 —(/9a+4b )*=12/ab >0
Wwziz (3Va +2V8)*>(V9a +4b )*
DO»e 3Ja +2Jb >+/9a+4b

@) “;ﬁ >0, J5+V@:>o ...... D

S R L
I (/“;b> <Vr+Vr2

[a+b J_+J— <§%ﬁﬁ§ﬁiwﬁo@mﬁ—ﬁ=0®}:%,>
2 2 Frrbba=bnr XD,

IIV

%10 1 [R%NOFEH — B 5 2 &ter 1]

R DR A G X
(1) la—bl=<l|al+]b] 2) lal—bl<|a+0b|

<>

1) —lal=a=lal, —|b|=—-b=I|b| THDHMNE, WxZEMZT
—(lal+lb))<a—b=<l|a|l +1b]|
J-oT la—b| <l|a| +1b|
2) —la+bl<a+b=|la+b|, —|b|=—-b=Z|bl THDHND, WrxEMZT
—(la+0bl+1bl)<a=|a+bl+]b|
L£oT  lal=la+0bl+(b| dziz el —|bl<|a+b|




GE (1) |a—bl=0, |al+]8|=0TH%.

3 (|a| +16))* —|a — b|*=2(|ab| + ab) 20

LoT  la—b’<(la|l+1b])? dziz  |la—bl=|al+]d|
2) la|l—|b| <0 D& =1, F%R |a|—|b| <|a+ b 1ZB &2 fk Y Lo,

lal — 8| =0 » & = la+b|*—(lal —|b])*=2(ab +|abl) =0
£oT (lal —8])*<|a + b|?
(1), (2 12BN T, EEMREK LoD

ab+lab|=0, +72bb ab<0D L XIZ[R5. >

(@

G lal—lbl<la+b (

11 [REXOREH —exHEL 525X 2]

la| <1, |b|<1 DX, |la+bl+|a—0b|<2 % ZFA+H L.

<fif >

lal<1, |Bl<1THBENEL  —1<a<l, —1<b<1
INHOFIIT2, —2EHITDH L
—2<2a<2, —-2<2b<L2, 2>-2a>-2, 2>-2b>-2
MDD, ZDZ b
1] a+b=0, a—b=20 =
la+bl+|la—bl=(a+b)+(a—b)=2a<2
2] a+b=0, a—b<0DL x
la+b|+|a—bl=(a+b)—(a—b)=2b<2
3] a+b<0, a—b=20m & %
la+bl+|a—bl=—(a+b)+(a—b)=—2b<2
4] a+b<0, a—b<0DE =
la+b|+|la—bl=—(a+b)—(a—b)=—2a<2
L7=M”->T la+b|+|a—0bl<2




5120 (M0 - AR O (KN BIROFEGE 1 —REXDFEH]

a>0, b>00 L&, WORFEXNY LHOZ & ZREHHE X

) ab+%22 @) <1+%><1+%>g4

<fif >

1) ab>0, dib>o B

l<ab+i>;./ab-i=1 FoT  abt+-Lo>2
2 ab a ab

<%%75§Eﬂwﬁo@ciab=i DLE, Thbb, a>0, b>073>Eab=1@k%‘°>

ab
WZIRS.

2) <1+%><1+%>=2+%+%
b

250, L50chHanb
a b

04l 4 lsoig j0@ 4y 1 ¢ <1+i><1+1>g4
a b a b a b

<’é§%7ﬁﬁibj00)ci£ 5 OEE, Tmbh, a>0, b>°73‘%“:”@5é°‘:>

a b
[R5 .

55130 (M0 - AR O (KN BIROfEWE 2 —F/MEZRD B]

a>ab>0@5%,@+%X}+%>@%m@%ﬁw;

<>

<a+3><b+i>=5+ab+L
b a ab

ZIZT, ab>0Th LD, - MHFEEHOBERIZED

ab+igz /ab-i =26 kot <a+£><b+ﬁ>25+2\/§
ab ab b a

BRSSO abz% DLx Fiebb ab=6 DL XT, = OREEFT

a, bIXGIETH. Dz, KoHE/MET  5+2/6
9




#1410 [(REXOFEH —F4RE]

la| <1, |6 <1, le|<1 D& &, RORFEXEZZENE L.

(1) a+b<ab+1 (2) a+b+c<abc+2
<fi# >
1) (ab+1)—(a+b)=ab—a—0b+1
=(a—1)(b—-1)
la| <1, [6|<1 2D —1<a<l, —1<b<1
roT a—1<0, b—1<0
dziz (a=1)(b0-1)>0 L7=2»>T a+b<ab+1

2) () oR%XROMmI ¢ ZMx D L
(a+b)+c<(ab+1)+c=(ab+c)+1
lal <1, [Bl<178  Jabl<1
E, <1 Thrin, D) EFALT
(ab+c)+1<(abc+1)+1=abc+2
L7z ->T a+b+c<abc+2

10



